=LFDb

3UDFRZQLN 5RINGDG  GU =DIECFND %HDWD 7\J

N

3HGDJRJIND

7N

3HGDJRJIND

N

3HGDJRJIIND

7N

((HPHQIN UHVRFIDL]DFIL UZ GU
=DICFND %HDID =

UHVRFIDIIDF\IQD GZ G UHVRFIDIJDFNIQD GZ GU UHVRFIDIIDF\IQD Z G 335/ &
=z =DIGFND %HDID = =DIGFND %HDID = =DIGFND %HDID = e DCFD  PLO 26 INJRGOD
z 3/ 32-5& 3/ 32-5& 3/ 32=5: - ‘QSOD e Q 2GINJRCQ
8 : -
= L _ L _ =NJ  ]DICFD
0) ZIRUHN GURGD JDICFD ZIRUHN GIRGD JDICFLD PLQ L _
T IDN Z SRQIHG]LD:HN IDN Z SRQIHG].D:HN ZIRUHN GURGD JDICFD
4 IDN Z SRQIHG]LD:HN
)
N
(HPHQI\ UHVRFIDLIDFIL = GU =DICFND)
%HDID = z 335/ z
2GNJRGQD VDD -
(B
N N N
= \EUDQH SIREHP\
SHQUHQFIDINVIANL Z GU 6HPIQDUXP _ BHPIQDUXP G\SRPRZH
=DIGFND %HDID = PDJIVIHWNH GU =DIGFND =DIGFND %HDID
3/ 325: %HDID 23RNy
a ©N\J JDCFD PO 3Ryl
o
L 7N
<
= \EUDQH SIREHP\
SHQUHQFIDUAVIANL 0Z GU
=DIGFND %HDID =
3/ 32-5&
- NJ ]DICFD  PWQ
—_
%]
=
)
7N 7N 7N 7N
3HGDIRJIND UHVRFIDIJDFNIQD Z G = \EUDQH SUREHP\ _ = \EUDQH SIREHP\ _ GHPLQDUXP G\SIRPRZHGU =DICFND
a =DIGFND %HDID = 35 SHQUHQFIDUNVIANL Z GU =DICFND %HDID SHQUHQFIDUAVINN. GZ GU =DICFND %HDID 35 325 -
= 32=5 : - 35 32=5: %HDID = 35 32:5&
o 3RNyI
[a
x N 7N

=DICFND %
32=5&

3HGDJRJIND UHVRF\\DCL]DF\!QD iz Gl
35

HDID =

3HGDJRJIND UHVRFIDIL] DF\MQD iz GU
35

=DICFND %HDID =

32=5&

QLHG]LHOD

GHPLQDUXP PDJLVIHUWNIHGU ,UDVLDN
$QQD GU =DICFND %HDID

%HDID
3Ryl

N

BHPLQDUXP G\SIRPRZHGU =DICFND

35

32=5 :




